ANATOMY 1 EXAM 3 ANSWERS

1.  Support,  Protection, Movement, Hemopoiesis, Mineral storage, Lipid storage

2.  occurs in red bone marrow housed in spongy bone

3.  Calcium and Phosphorus

4.  yellow bone marrow

5.  anything longer than wider

6.  almost the same length (long as they are wide)

7.  Trick question.  No definition was given.

8.  Epiphysis

9.  spongy, compact

10.  articular cartilage

11.  Hyaline cartilage

12.  Red

13.  Diaphysis

14.  Compact bone

15.  Medullary cavity or marrow cavity

16.  Yellow

17.  Metaphysis

18.  Two

19.  reduces friction at a joint so the bone will move smoothly

20.  Endosteum

21.  Dense (Fibrous) Connective Tissue and osteoprogenitor cells

22.   Periosteum

23.  Dense (Fibrous) Connective Tissue and osteoprogenitor cells

24.  The tendonous portion of the muscle attaches to the periosteum, which attaches to the bone.

25.  Osteoprogenitor cells, Osteoblasts, Osteocytes, Osteoclasts

26.  Osteoclasts

27.  Osteoblasts

28.  Osteoclasts

29.  Osteoprogenitor cells 

30.  Osteoblasts

31.  Osteoprogenitor cells 

32.  Osteoclasts

33.  Osteoblasts

34.  Osteocytes

35.  Osteoclasts 

36.  Compact bone, spongy bone

37.  Compact bone

38.  osteons

39.  lamellae

40.  lacunae

41.  canaliculi

42.  so nutrients can diffuse from capillaries to each cell

43.  spongy bone

44.  trabeculae

45.  Red bone marrow

46.  6th or 7th 

47.  Intramembraneous, Endochondral

48.  skull, middle ear ossicles, mandible, clavicles

49.  osteoblasts located in the periosteum and endosteum, producing new bone

50.  the epiphyseal plate

51.  hyaline, metaphysis

52.  Zone of Resting Cartilage,  Zone of Proliferating Cartilage,  Zone of Hypertrophic Cartilage,  Zone of Calcified Matrix 

53.  Calcified Matrix 

54.  Resting Cartilage 

55.  Proliferating Cartilage

56.  Calcified Matrix 

57.  Hypertrophic Cartilage

58.  206

59.  axial

60.  skull, vertebrae, hyoid, ribs, sternum, Middle Ear Ossicles

61.  appendicular

62.  Pectoral girdle, pelvic girdle, arm bones, leg bones

63.  scapula, clavicle

64.  ilium, ischium, pubis

65.  Sutural bones

66.  Sesamoid bones

67.  The patella

68.  Big Mac

69.  Condyle

70.  Trochanter

71.  Fissure

72.  Facet

73.  Foramen

74.  Tuberosity

75.  Head

76.  Fossa

77.  Fontanels

78.  intramembraneous ossification

79.  allow the skull to compress when passing through the birth canal, allows for rapid brain growth during infancy

80.  Anterior Fontanel, Posterior Fontanel

81.  Sphenoidal 

82.  Mastoidal 

83.  Sinuses

84.  Frontal sinus, Sphenoid sinus, Ethmoid sinus, Maxillary sinus 

85.  produce mucus, lighten the weight of the skull bones, resonating chambers for speech , heats air that enters the body

86.  ciliated pseudostratified columnar

87.  hyoid

88.  styloid process 

89.  supports the tongue, attachment point for neck muscles 

90.  33

91.  Cervical,  Thoracic, Lumbar, Sacral, Coccygeal 

92.  7

93.  12

94.  5

95.  5

96.  4

97.  none

98.  4

99.  cervical, lumbar

100.  2 to 3 months

101.  one year

102.  16 years, with the new driver’s license

103.  Intervertebral disc

104.  act as a shock absorber

105.  annulus fibrosus, nucleus pulposus

106.  Elastic C.T.

107.  Fibrocartilage

108.  12

109.  Vertebralsternal 

110.  Vertebralchondral

111.  Vertebral

112.  Mandibular fossa of temporal bone

113.  Superior articular facet of the Atlas

114.  Inferior articular facet of vertebrae

115.  Demifacets on the body of thoracic vertebrae

116.  Transverse process of thoracic vertebrae

117.  Clavicular notch of the manubrium

118.  Acromion of the scapula

119.  Glenoid fossa of the scapula 

120.  Capitulum of the humerus 

121.  Trochlear notch of the ulna

122.  Radial notch of the ulna 

123.  Ulnar notch of the radius

124.  Left pubis at the pubic symphysis

125.  Sacrum at the sacroiliac joint

126.  Acetabulum of the coxal 

127.  Medial and lateral condyles of the tibia

128.  Talus 

129.  Inferior surface of the lateral condyle of the tibia

130.  Talus 

131.  Synarthrosis, ampiarthrosis, and diarthrosis

132.  no movement, no joint cavity

133.  suture, gomphosis, synchondrosis

134.  Coronal, Sagittal, Lambdoidal, and Squamosal

135.  teeth in a socket

136.  costal cartilage of the ribs, epiphyseal plate

137.  fibrocartilage

138.  slight movement

139.  Pubic symphysis, Intervertebral Disc

140.  free movement throught the range of the joint.

141.  synovial joint

142.  Lubricates the joint to reduce friction, Helps nourish the Articular cartilage

143.  ligaments

144.  gliding, hinge, pivot, ball and socket, condyloid,, saddle

145.  sliding back and forth movement 

146.  between tarsals or carpals, between superior and inferior articular facets of vertebrae

147.  gives flexion and extension

148.  between the trochlea and trochlear notch , between the femur and tibia, between phalanges

149.  rotation only

150.  between the dens of the Atlas and Axis (head turning), head of the radius and radial notch of the ulna

151.  flexion, extension, abduction, adduction, rotation, circumduction

152.  head of the humerus and glenoid cavity, head of the femur and acetabulum

153.  flexion, extension, abduction, adduction, circumduction

154.  between the radius and the carpals, between the proximal phalanx and the metacarpal

155.  flexion, extension, abduction, adduction, circumduction

156.  between metacarpal #1 (thumb) and a carpal called the trapezium

157.  menisci

158.  stabilize and tighten the knee joint, helps distribute the pressure throughout the knee joint

159.  Anterior cruciate ligament, Posterior cruciate ligament, Medial collateral ligament , Lateral collateral ligament 

160.  the anterior intercondylar eminence of the tibia to the lateral condyle of the femur

161.  the posterior intercondylar eminence of the tibia to the medial condyle of the femur

162.  the medial side of the femur to the medial side of the tibia

163.  the lateral side of the femur to the head of the fibula

164.  bursae

165.  myology 

166.  sarcolemma 

167.  sarcoplasm

168.  muscle fiber

169.  skeletal, cardiac, and smooth muscle tissue

170.  fascia

171.  Epimysium, Perimysium, Endomysium

172.  Epimysium

173.  Perimysium

174.  Endomysium

175.  surround and separate individual muscle fibers 

176.  separate the muscles into bundles of fibers called Fascicles 

177.  holds the whole muscle together

178.  myofibrils

179.  longitudinally 

180.  sarcomeres

181.  myosin, actin

182.  myosin

183.  actin

184.  Z-lines

185.  Actin

186.  Myosin filaments

187.  protein arrangement

188.  I-Band 

189.  myosin and overlapping actin

190.  H-zone 

191.  Myosin

192.  three

193.  Tropomyosin  

194.  Troponin

195.  Actin

196.  sarcoplasmic reticulum

197.  Ca

198.  transverse tubules

199.  motor neuron

200.  one motor neuron and all the muscle cells it innervates

201.  motor unit ratio

202.  Forms the cross-bridges, Breaks the cross-bridges, Actively transports Ca back into the S.R.

203.  Muscle Tone

204.  shorten

205.  shorten

206.  recruitment

207.  muscle atrophy

208.  protein myofibrils

209.  Muscle Hypertrophy

210.  cellular respiration

211.  C6 H12 O6  + 6O2  + 38 ADP + 38 Phospates = 38 ATP + 6 H2O  + 6 CO2

212.  Glycolysis(Anaerobic phase),  Aerobic phase 

213.  Aerobic phase 

214.  Glycolysis

215.  6H2O and 6CO2
216.  2, 36

217.  anaerobic phase 

218.  lactic acid.

219.  pH

220.  fatigues

221.  Glucose 

222.  oxygen debt

223.  red fibers and white fibers

224.  synergists

225.  antagonists

226.  origin

227.  insertion

228.  flexion

229.  extension

230.  dorsiflexion

231.  plantarflexion

232.  rotation

233.  circumduction

234.  adduction

235.  abduction

236.  supination

237.  pronation

238.  protraction

239.  retraction

240.  inversion

241.  eversion

242.  elevation

243.  depression

244.  A good idea

TRUE/FALSE

1.  False

2.  True

3.  True

4.  False

5.  True

MATCHING:

1.  d

2.  a.  

3.  e.  

4.  b.

5.  c.

6.  red

7.  white

8.  red

9.  red

10.  white

11.  white

12.  red

13.  white

14.  red

15.  red

16.  white

17.  white

SHORT ANSWER:

1.  50% of every bone – Mineral Salts-  Calcium Carbonate (gives bone its hardness)  Calcium Phosphate

25% of bone matrix – Collagenous fibers  25% of every bone – Water

2.  As compact bone forms around blood vessels, longitudinal and horizontal canals develop which are Central (Haversian) canals.  These canals run longitudinally through compact bone, and are interconnected by horizontal canals, which are Perforating (Vollemann’s) canals.  These run horizontal through compact bone connecting Central canals, so that blood vessels can go from the periosteum to the inside.

3.  During embryonic development mesenchyme cells migrate to sites of future bone.  The mesenchyme cells form a membrane of dense C.T. and osteoprogenitor cells.  Within the membrane the osteoprogenitor cells differentiate into osteoblasts.  Osteoblasts secrete spongy bone within the membrane, and then cover it with compact bone.  What is left of the dense C.T. membrane becomes the periosteum

4.  During embryonic development mesenchyme cells migrate to areas of future bone.  Mesenchyme cells produce a membrane of dense C.T. that contains chondroblasts.  Chondroblasts secrete Hyaline cartilage in the shape of the future bone (cartilage model).  The cartilage grows, and begins to die in the middle of the cartilage model.  The cartilage is surrounded by a layer of dense C.T. with blood vessels called the Perichondrium.  Blood vessels invade the decomposing cartilage at the center of the diaphysis and at the epiphyses, bringing osteoblasts that secrete bone.  Eventually the cartilage is replaced by bone, except in 2 places: ~Articular cartilage, ~Epiphyseal plate.  When the bone stops growing in length the epiphyseal plate is replaced by bone.

5.  



Female




Male
Greater pelvis

Shallow and a greater distance between ilia

Deep and a shorter distance between ilia

Pelvic brim (inlet)
Larger and more oval



Smaller and more heart-shaped

Pubic arch

Greater than 90 degree angle           


Less than 90 degree angle                                                  

6.  a. attached to bones

     b. they are very long, rigid, cylinder-shaped fibers

     c. striated- they have striations, which are light and dark bands that run perpendicular to the fiber
     d. they are multinucleale- many nuclei
     e. voluntary (you have conscious control over them)
7.  a. forms the wall of the heart called the myocardium

     b. the fibers are wavy and tend to branch

     c. striated

     d. single nucleale

     e. involuntary

     f. has intercalated discs (between the cells)

8.  a. found within organs (spleen, arteries, lungs, stomach, esophagus, etc.)

     b. the fibers are spindle-shaped (big in the middle and taper at the ends)

     c. non-striated

     d. single nucleale

     e. involuntary

9.  A motor neuron of a nerve delivering an impulse that causes ACh to cross the cleft and stimulate a muscle fiber, it occurs at a neuromuscular junction (synapse)

10.  1.
In a relaxed muscle fiber Ca   concentration is low in the sarcoplasm because it is stored in the sarcoplasmic reticulum (S.R.)

       2.
A nerve impulse from a motor neuron causes ACh to cross the cleft, bond with a receptor, and depolarize the sarcolemma
       3.
This causes a series of action potentials (impulses) along the sarcolemma and down the transverse tubules to the sarcoplasmic     
reticulum (S.R.)

       4.
Depolarization of the S.R. cause Ca    gates to open, and Ca    diffuses into the sarcoplasm

       5.
Ca    reacts with Troponin to trigger a contraction, the troponin changes shape which causes Tropomyosin to move, exposing the 
myosin binding sites

       6.
Energy from ATP is needed for the globular heads of myosin to react with the myosin binding sites of Actin, to form a cross-bridge

       7.
The cross-bridges move like oars of a boat (reaching out, and pulling back), this causes the actin filaments to slide past the myosin (at 
any time, about 50% are attached)

       8.
As the actin filaments slide together, the sarcomere shortens and the H-zone disappears

       9.
(1) For the muscle fiber to relax, AChE breaks down ACh

       10.
(2) ATP breaks the cross-bridges

       11.
(3) ATP allows active transport of Ca    back into the S.R. so tropomyosin can recover the binding sites

